Divide by 100 (B)

Find each quotient.

0.9 +100= 6.4 100 =
4.093 =100 = 47 =100 =
6.7591 = 100 = 0.13+100=
4.7 +100 = 7.482 - 100 =
3.272 +-100 = 1.198 =100 =
5.599 - 100 = 7.6165 + 100 =
2.1183 =+ 100 = 434 =100 =
0.796 =100 = 1.1253 =+ 100 =
6.3238 +- 100 = 8.34 - 100 =
52 +100= 7.3 +100 =
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Divide by 100 (B) Answers

Find each quotient.

0.9 +-100=0.009 6.4+~ 100 =0.064

4.093 =100 = 0.04093 4.7 - 100 = 0.047

6.7591 = 100 = 0.067591 0.13 +100=0.0013

4.7 +100 =0.047 7.482 =100 =0.07482
3.272 +100=0.03272 1.198 +-100=0.01198
5.599 - 100 = 0.05599 7.6165 <+ 100 =0.076165
2.1183 +-100=0.021183 4.34 + 100 = 0.0434
0.796 =100 = 0.00796 1.1253 + 100 =0.011253
6.3238 +~ 100 = 0.063238 8.34 + 100 = 0.0834
5.2+100=0.052 7.3 +100=0.073
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